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QUESTION 1

Based on the information shown in the exhibit, when the SGW sends an uplink user IP packet to the PGW, which of the
following is the GTP TEID value expected in the GTP packet header?

*L:3GWH# show mobile-gateway serving bearer-context imsi 302720123456789 detail
Bearer context detail

IMSI : 302720123456789

APN : ipd.alcatel-lucent.com

Bearer Id 5.5 Bearer type : Defaultc
Up Time : Od D0O:01:40

QCI/ARP Y e

Qo3 UL MBR : 0O Kbops Q05 DL MBR : 0O Kops
Qo8 UL GBR : 0O Kbps Qo8 DL GER : O Ebps

S5 PGW Data TEID : Oxd054Z25 S5 3GW Data TEID : Ox4f0080S
55 PGW Data addr : 10.10.7.2

55 5GW Data =addr : 10.10.7.1

S1U eNodeB TEID : Ox21 S1U SGW TEID : Ox4£00B25
$1U eNodeB addr : 10.10.2.100

81U SGW address : 72.22.24.163

55 UL packets 1 31154 55 UL bytes : 1658408
510 DL packets : 31146 S1U DL bytes : 44654892
$11 Qo5 Modify e,

Number of bearer contexts : 1

A. 0xd05425

B. 0x4f00805

C. 0x21

D. 0x4f00825

E. None of the above answers are correct

Correct Answer: A

QUESTION 2

On the Alcatel-Lucent 7750 PGW, which of the following is the CLI command to check the statistics of the "Create
Session Request" / "Create Session Response" messages?

A. Show mobile-gateway pdn ref-point-peers gx
B. Show mobile-gateway pdn ref-point-peers s5

C. Show mobile-gateway pdn ref-point-stats ga
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D. Show mobile-gateway pdn ref-point-stats s5
E. None of the above answers are correct.

Correct Answer: D

QUESTION 3

On an Alcatel-Lucent 7750 PGW, which of the following is the CLI context where you can specify the IP address and
port number of a PCRF server?

A. Under the Diameter profile context.

B. Under the Diameter Peer profile context.
C. Under the Gx interface context.

D. Under the APN context.

E. None of the above answers are correct.

Correct Answer: B

QUESTION 4
Which of the following statements is FALSE regarding the S1-U interface?
A. Itis the user plane interface used to connect the E-UTRAN and the EPC core.

B. It relies on the GTP-C path to exchange the "Echo Request" / "Echo Response" messages between the eNodeB and
the SGW.

C. It may be used to transport user data during the inter-eNodeB handover.
D. It uses the GTP-U protocol.
E. The UDP protocol is used as the transport protocol.

Correct Answer: B

QUESTION 5
Which of the following statements is FALSE regarding the triggers of the Tracking Area Update (TAU) messages?

A. A TAU is sent when an active UE moves into a new TA that is not in the UEW's current Tracking Area Identity (TAI)
list.

B. A TAU is sent when a UE moves from the 2G/3G network back to the LTE network.

C. ATAU is sent when an idle UE moves into a new TA that is not in the UE\\'s current TAI list.
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D. A TAU is required to be sent periodically.

E. A TAU is never required as long as an idle UE stays in the same TA.

Correct Answer: E
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